Q2L Answer

TI\G V’\'B Force on Hwe elect fons cavses tlﬁem to Move m
the J:recblof’ shown (3Jven the above B and rotabion directions)
and hence there is an induced E Field which eventually

3|scooroaes Fur‘t,ﬂer‘ MOV?-Mentm o) f‘adlql dmectaeﬂ

M: Pons r H"e VBIOCrle OP H'\e e’ec&rons is

V=W
l’*‘asnetnc. Forcel on electr‘on ls F,,\ = ?/PWB (‘!_ Gﬂdé

re PerPenducv'or)
L\ € UrleUm this maanetac. Force 15 ba/anced bd H\e

Gjﬁctrlc Force w 'Ct\ L’Ga sznlbU e
Jote - E is nob deoM

_ E(r) - grwd [t’ LA
E(r)?..rwB 7/ ’ © ]

The Votboje O,Of)ecu‘m
hus given | by ]
\(Ecr-)alt' -ijr r :wBL ] - wB (Begd) =V,

|
. ——

bet ween the sPinJ/e and tim s

In tlms case,
= 2% x 2000x 5 (o.'Lf_o.og’") =23V
GO x 2 S—




